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1. £KML = £ PMN because vertical angles are congruent.
£ K= /P (Given). Therefore AKML ~ APMN by the
AA ~ Postulate. 2. Since AB|| DE, alternate interior angles
are =.So L BAC= £ DECand L ABC = £ EDC. Then
AABC ~ AEDC by the AA ~ Postulate. 3. 2Y= /S
since all right angles are =. 2 Z = £ R (Given). Therefore
AZYX~ ARSThy the AA ~Postulate. 4.2 5.2 6.8

7.12 8.8 9.15 10, LEAD= / CABbecause vertical

angles are =. Then, since% = m7—5 = :Z; and% = % = :2;

AEAD ~ ACAB by the SAS ~ Theorem; x = 6.
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1. Since % = B _ MO _ 1 LORM ~ AMNPby
the SSS ~ Theorem: x = 90. 12.Since gy, = y7 = 3 and
£B= LY (Given), AABC ~ AXYZbythe SAS ~

B 10
Theorem; x = 7




